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T
Let T: R® R’ such that

is true

A) T is onto but not one - tu - one

B) T is isomorphism
C) T is one - to - one but not onto

D) No such linear map exists
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|5;Q-t_hen si+s= |

2= sy is the solution. %
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Let A= [ g g], then the eigenvalues of A

A) 2,3

B) 6,—1
)
M) 8 -3




Let T : R* - R® be linear map such that
T(z,y,2,w) = (y — 27,y + w, 2), then ker T =

A) {(t,2t,—2t.0): t € R}

B) {(t.2t,0,—2t):t € R}

C) {(2t.0,t,—t) : t € R}
(2.

D) {(t.2t.0,2t) : t € R}



%.:.E:U = {(z.y,5): 32— y—2z=0} is a subspes B
" A {(z.9,2): lz—y+3Fz=
E B) {(3t.—t.2t): teR}zz_B}
= C) {(3t,—t,—2t): te€ R}
P) {(z, y.z) —33:+y+2z-0}
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